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1. You must present your work completely and legibly to receive partial credit. You must show

sufficient steps to justify intermediate results as well as final answers.

2. Put all your work on the exam. If you need more space than that provided, ask your instructor
for paper. Write your answer clearly and use appropriate units. You have 50 minutes to work

this examination.

3. You are not permitted to discuss the contents of this exam until after 6"

period today.
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I have neither given nor received assistance while completing this exam.
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EXAMINATION 5 November 2010

(1) ( 5 pts) Determine the equivalent capacitance of the capacitor network shown below.
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(2) (5 pts) State the i-v characteristic for an inductor.

(3) (5 pts) In lab, how might you prevent a DC signal from entering a device while permitting
an AC signal to pass through the device?
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(4)(5 pts) Given the voltage phasor for a 10 Q resistor sketched below on the polar graph, sketch
the expected current phasor for the resistor.
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EXAMINATION 5 November 2010

(6) (25 points) Given the circuit shown below, determine the values of Vout and Ix.

Vout= /2 Vv

x= —/32 i
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(7) (25 points) Find the Thevenin Equivalent of the circuit shown below from the point of
view of terminals a-b. DRAW THE THEVENIN”S CIRCUIT.
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(8) (25 points)The switch in the circuit below has been closed for a long time. At t=0 the

switch opens. Find the following for t>0.

(@) v(t)
(b) Sketch V(t)
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